1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE
WiTH THE 2010 EDITION OF THE FLORIDA BUILDING CODE. THIS STORM PANEL SHALL NOT BE INSTALLED AT HIGH VELOCITY
HURRICANE ZONES (MIAMI—DADE / BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1809 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7~10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL
NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN FRESSURE RATINGS INDICATED ON SHEETS 5 THRU 8.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10
SHALL BE FIRST REDUCED TO AS.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO
TO COMFARE THESE W/ MAX. (AS.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5 THRU 9.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE
IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR €D=1.60 WAS USED FOR
VERIFICATION OF FASTENERS IN-WOOD.

STORM PANEL’S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.2 OF
THE ABOVE MENTIONED CODE AS PER ATL REPORTS # 0121,01-98R, # 0329.01-00, # 0525.01-00 AND #0512.01-03 AND
#0617.02-04, AS PER SSTD 12~89 STANDARD,

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE B052-H32 OR 3004-H34 ALLOY.

3. ALL ALUMINUM EXTRUSIONS Sk ALL BE ALUMINUM ASSOGIATION BOE3~TE ALLOY & TEMFPER UNLESS OTHERWISE NOTED.
STORM PANEL COMPONENTS (19) STUDDED PLATE AND SNAP CAR ARE PATENT PENDING.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 318 AIS! SERIES OR CORRUSION RESISTANT COATED CARBON STEEL AS PER DIN
50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION
2411.3.3. 4.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AlSI 304 SERIES STAINLESS STEEL, WITH 35 ks/ MINIMUM YIELD STRENGTH.
8. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED. CONCRETE:
~ 1/4" @8 TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX.
~ 1/4" 8_CF TAP—~GRIP ANCHORS [BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION.
~ 1/47 0 ZAMAC NAILIN' ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
~ 1/4" @ x 7/8" CALK~IN ANCHORS OR ELCO male & Female "PANELMATE" AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.
= 1/4" @ x 374" ALL POINTS SOLID—-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:
A1) MINIUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/4" FOR ZAMAC NAILIN ANCHORS IS 1 3/8"
FOR ELCO PANELMATE ANCHORS IS 1 3/4" AND FOR CF TAP~GRIP ANCHORS IS 1 1,/4”.

A2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1/4'8~20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1"
MINIMUM FOR WALLS WITH NO STUCCO,

A3) MINMUM EMBEDMENT OF 1/4%% x 3/4" ALL POINTS SOLID~SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITIED. 1/4" 8-20 5.5. MACHINE SCREW USED SHALL BE 1 1,/2" LONG
MINIMUM SHOULD STUCCO £XIST, AND 17 MINIMUM FOR WALLS WITH NO- STUCCO.

A4) IN CASE THAT FRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS
INDICATED ON- NOTES A1) & A2) ABOVE.

(8) TO EXISTING CONCRETE BLOCK WALL:
- 1/4" @ TAPCON. ANCHORS AS MANUFACTURED BY L.T.W. BUILDEX,
1/4" @ CF TAP~GRIP ANCHORS (BERTHA STUD~CON), AS MANUFACTURED BY TRU-FAST CORPORATION,
1/4" @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
1/4" 8 x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE” AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTVELY.
~ 1/4" ® x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

t

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, AND CF TAP—-GRIP ANCHORS INTO CONCRETE BLOCK
UNIT SHALL BE 1 1/4% 1 3/8" FOR ZAMAC NAILIN ANCHORS AND 1 1/8" FOR RED HEAD DYNABOLT SLEEVE ANCHORS

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO .S;TUCCO
SHALL BE PERMITTED. 1/4"8~20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1
MINIMUM FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4°6 x 3/4" ALL POINTS SOLID—SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" #~20 S.5. MACHINE SCREW USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE
LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH FANELS. ANCHORAGE SHALL BE AS INDICATED ON NQTES IN

B.1) AND B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
—MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 8 (SHEET 3 & 4 OF
9) EXCEPT THAT HEADERS 3, 4 & 5 SHALL NOT BE USED.

8. IT .SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SRUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOGUS CONTACT WITH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH,

10. (o) THIS P.ED. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT: ie.
WHERE THE SITE GCONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR-THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
BASED- ON- THIS P.E\D. PROVIDED _HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTHON SAFETY AT SITE IS THE CONTRACTOR'S RESFONSIBILITY.

{c) THIS P.E.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIc PROJECTS SHALL BE PREFPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL -BECOME THE
ENGINEER OF RECORD (E.O.R.) FOR THE FROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D,
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TQ THE P.ED. ENGINEER, SHALL SUBMIT TO THIS LATTER “THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D, SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE FPROFESSIONAL ENGINEER OF RECORD THAT
PREPARED 17,

11, SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH
SECTION 1715.8.3 OF FLORIDA BUILDING €ODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1715.8.2 OF THE FLORIDA BUILDING CODE.

o ggyiié’iﬁﬁyyy

FLORIDA BUILDING CODE (Non High Veloclty Hurricane Zone)

- " RE] Iy .
1/4" # RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED BY LT.W. BUNLDEX. 02011 TLIECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL| Lo eEjas.
(2.25" DEEP) DRAWN 8Y:
12/06/11
' ' EASTERN METAL SUPPLY, INC DATE:
"- E C O iNc. wﬁ_ga}g WE%ERQAD%LDlggiO?
ALM BEACH, FL. _
e e M o PHONE: (561)209-8263, FAX: (561)841-1716 11-222
Phane + (305]8 75’.3’_5;206’:;; g (305)871-1531 REV, No DESCRIPTION oAt | wev e DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. : oip 08-141__ lizoe/ul s
FLORIDA Lic. § #4167 2 F SHEET 1 OF 9

“srga00008



2.470" ‘% 3.000” Mox. 2.470" \
" 14.845" (TOTAL WIDTH) 8.845" (TOTAL WIDTH) — 7 __N[_ i 125"
f—————12.000" (EFFECTIVE wmm)—-u-—-—g j==—6.000" (EFFECTIVE WIDTH)— 3\5§w R.125" £.250" T/ 2.470"
 1.500" 4.500" 1.500" 4500" L 1.500" 1500 4.500" | 1.500" /'_ 4 125 1250 #.250° ‘_—'_] R.250"
| @@ AS APPLICABLE (Typ.) 5 \A.125 TR 35 [ — | — »
/ \ : . /N l I ; . 3 (&125T 4 &
7( Y L5 3 ‘% T e e 2 _” 125" | M R2007 3 flz * R
$ ‘ > 8 "‘ " 38 N R125 h = "
& x / SR - CTEN S 5 .. 8% § : EE3
S / . XN L2 N 075 ) 2y 8 —jj075" Y B
e/ P A l T 075 Y & . __% b
’—2.725" | 3891" ! 2 125"«-] "i\ i L
2.250"
- ; ' 597" e 250" NFULL R 2.250" CNLUL R,
(1) FULL ALUMINUM PANEL W/ HEMMED EDGES (A-HALE_ALUMINUM PANEL W/ HEMMED EDGES 2,691 220 | o |
g "y 2
h~ HEADER N
@ SCALE : 378" = 1° @ 3" Max. "U” BUILD ouT @ "U™ HEADER
: SCALE : 3/8" = 17 BCALE ¢ 3/8" = 1*
} 18.118" (TOTAL WiTH) 9.119" (TOTAL WIDTH) =
e 12,000 (EFFECTIVE. WIDTH) e =8.000" (EFFECTIVE WIDTH)~——|
1,500 1.500" 1.500" 4.500" 1.500" 1.800", 5o 1.500" 214"
@ 45 APPLICABLE (Typ) |, 1 $
\ ' / ' T - =~ &
\ 5% | 8 510% to B |
\ / —2 2 Py ] L.}. b A by 3
§ L= 1 e e N
P ‘ | 2 i“"r"" a — T 88
Le.r:s"—l————mm“»———-—l—z:zs"——l b-z128° i L L SEY
» "R .200" ——
@ FULL ALUMINUM PANEL W/Q HEMMED EDGES @HALF ALUMINUM PANEL W/0 HEMMED EDGES e ‘
3.000" -#ox. L...‘;-‘L”.L..._I
O STORM PANEL B) 3" ANGLE BUILD OUT /8" 8. 0. A 3/4" 8. 0 REVERSED "F" ANGLE
R ™ BRACKET - *F* TRACK *F* TRACK TRACK  souc: = 1
SOLE « 38" = 1" _SOALE : 3/8%= 17 SCALE : 3/B” = 1™ '
374" 1257
Aiw I
SHOWN ON SECTIONS. r :l f-’; ogg#”
65T T 5 % -
” N -
S 3 e | 4 — |
T | 1 s 8w
T 2000 =Lrl |20’ | N | 5.000" | T : LR
R.125" ...._..—_...l 080" 1 3 o
"F*_TRACK ANGLE STUDDED_ANGLE @D 2”.x 5° (Max.) x .125" ANGLE |
SCALE : 3/8" = 1” :g:f;?ﬁ 3*‘}:‘,,”":‘-}9” SOALE ; 378" = 1° J o
it 050" or 060"
~ |—.093"
174" 2 Jot 788 |- DETAIL 1: srup wy piE casT zve
. » SERIES, mi_b ol NICKEL PLATED WING NUT @
@344 g 10 PLATE ¢
N o 12" 0.2, 28179 ) TION o ’2
7\‘1—-— T I - gifiiffﬂyfi§ (OP T )
S | \
[ — e », l '% . N
o . il e S FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
~ e LT \ 1.375" 7}‘"'m.z B ©2011 TLTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL| wL6/RE£/as.
¢ = M, 085" N -—-—-’—-——ﬁ// : (2.25" DEER) DRAWN. BY:
565 NGs2" : 12/08/11
ez L — T—r———' EASTERN METAL SUPPLY, INC oare
03 KEY HOLE WASHER {4 STUDDED PLATE -/ SIEOF 8 ILIECO nc. (2255 ST pouos onyE
3105-H154 Alum. ALLOY - 6063~78 ALLQY - e rd of s d —_
SOME : 3/8" = 1° S 12T SouE 1% = 17 S Qfo‘ng.ﬁlg%@“s’ N G L RING (COMPAN PHONE: (561)209-8263, FAX: (561)841-1716 11-222
%Z-, <~¢ 5) °°°°°°°°°° %ﬁgﬁ‘ ﬁ'&% Phane : (305)575’,51_5320;;’; 9 (3058711531 REV. No DESCRIPTION DATE | FEV. No DESCRIPTION DATE DRAWING No
= STONAL E g T o I L M sveer 1 or o




— TOP TRACK

(SEE COMPONENTS, SHEET 14 OF 8)

PANEL LENGTH (SEE SCHEDULE OMN SHEET 5 OF 3)— =

- 3" ] CONCRETE ANCHORS (SEE SCHEDULE) 'A;"»
Max., l ax.
1 Mm.l 1 Min.
[e] ] o [} [o] [e]
:‘T”":‘"l“‘—‘\["":'_‘}“I"_—T"‘T__l"'l_"_T“T"‘T"‘"l'—"T"T“‘l’"l“—_l_"T'"T'_"l*“‘V'T"T"T_"_I"‘F“"T“‘\“_"l_"l'"T”T'““o‘“"f“T"T"‘r"‘r"“"rﬁ
1 | ! | 1 | 1 | i f 1 i 1 t i i 1 i i 1 i I I 1 1 ] | | I I i I | [
A & / ¥
- Yy v
A+
N1/
TYP,
T |
Ar* /\/ A"
A '\/ Av
]
-t
@ @ = % & & 1
*-'3”-*,L CONCRETE ANCHORS (SEE SCHEDULE) I 3" =
Max. Max.
1 Min. 1 Min.
L BOTTOM TRACK

STORM PANEL TYPICAL ELEVATION

SCALE : 1/8" = 17

—§k¢ﬂ"mxaw C}

TYP,

NN AN AN AN

/ N/

1/4" Mox. GAP ‘1
N

SECTION A-A

SCALE : 1/8" = 1"

(SEE COMPONENTS, SHEET 1A OF 8)

“50550089°

200
'''''''

iEOI8800s,,

CER A,

1
! i
3 N

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2011 TILTECQ, INC.

/ TLIECO e, \

TILLIT TESTING & ENGINEERING COMFPANY
6355 N.W. J8th, St, Ste. J05, VIRGINK: GARDENS, Fi, 33186
Phane : (305)871-1530 . Fax @ (308)871~1531
EB-0006719
WALTER A. TILLIT Jr. P.E
FLORIDA Lic. # 44187

0.050" BERTHA ALUMINUM STORM PANEL{ re/re/Ac.
(2.25" DEEPR) DRAWN BY:
12/06/11
EASTERN METAL SUPPLY, INC DaTE:
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
PHONE: (561)209~8263, FAX: (561)841~1716 11=-222
REV. Ne DESCRIPTION DATE | REV. Ne DESCRIPTION DATE DRAWING No
: oD 0B~141  |1208013 4

4

SHEET 2 OF 9




TAPCONS, ZAMAC. NAILIN, RED HEAD

TAPCONS, ZAMAC NAILIN, RED HEAD

TAPCONS, ZAMAC NAILIN, RED HEAD

DYNABOLT, CF TAP—GRIP. CALK—IN OR Cont.  DYNABOLI, CF TAP—GRIF, CALK=IN R\ ‘% DYNABOLT, CF TAP~GRIF, CALK~IN OR 7 ‘g
550 Jle/ s A — S A A NN .., LB/ o e N -
(SEE SCHEDULE FOR SPACING) . _~ NJg | e c;‘;;fgfé%“%gfmﬁ (SEE SCHEDULE FOR SPACING) = =i /“@ ont. (SEE SCHEDULE FOR SPACING) == /—® :
- I § ‘ ANCHORS (SEE SCHEDULE FOR SPACING)\ T POURED -~ POURED -~ |
POURED T RN & CONCRETE CONCRETE
D | — T e | R < ] L TR Y
‘\ Q‘ ] %'(' REQUIRED _[ Q l ) w I I ' 0SS W ! 1 {3
Ly bee | -
Cont. W ‘ ‘ [
) N Q AN ~
N I | —() Q !
o R - ] |
1" MINIMUM @ Ay & 1" MINBAUM 1" MINIMUM I 5
— SEPARATION m—*-‘ l 3 l 1 & SEPARATION TO I f ] “ SEPARATION TO I @
GLASS § 3" MINIMUM w GLASS "‘@ b GLASS m
S — SePARATION 70— | i | | ] N | 8
o ¥ cusss ; x g O
[N %} |
| | 8 — ’ g A p_ | ‘f* A i 1 g
) Y V7 | g N B | 4 A 3
a ) } o
, i 2 /4" 8~20 x 2 ' [ g z S
[ ! ; i%gs" %@ /NUT ® ._® & f i l % . ] | *
: ~20 7/8" x 3/32" WING NUT —( :) :
% . H | 3 é’o/zrsﬂw/ ?,x/aj'/# | | N &% 3% g
] ; 1‘@ & | ' 3/32 vg/vs NUT ® g ‘ n l l
¥ . 3 t | o , l ] g tont.— |
_— s o .__..@ )
| ; j/V ZIT T o NI é—l |
POURED d ¢ POURED @ b 83 d 8 }
CONCRETE 1 8 CONCRETE | couRED " 7 b | POURED N -
BLOCK WALL S OR CONCRETE g , POURED “h— CONCRETE ] ;
REDU/REB r— ——»/ 5 ELO‘CK WALL — —— OR CONCRETE ——,/ Oﬁ CONCRETE r— v——/f-a
= H | REGHIRED ~ A o ONCRE == ] \ l | BLOCK WaLL — '
]7 | / /) p———{ :)-mt. %33%5 vgm / / , REQUIRED l 'g ;&;4 3;2@? ;vyg S
TAPCONS, ALL POINT SOLID-SET, : . TAPCONS, ZAMAC NAILIN, -RED HEAD— & - : ] A )
gy el g B ) § s, e sy o) - | NG
CE TAP—-GRIP, CALK~IN OR / / e J ii)jCant.
ELEO MALE/FEMALE PANELMATE Cont, ANLHORS ) ELCO MALE/ FEMALE PANELMATE i } DYNABOLT. CF TAP—GRIP, CALK~IN OR o
ANCHORS (SEE SCHEDULE FOR SPACING) {SEE SCHEDULE FOR SPACING} CoEr EDULE FOR sPacinG) ELCO MALE/ FEMALE PANELMATE
_{SEE SCHEDULE FOR-SPACING} - ’
SECTION @ ANCHOR WALL MOUNTING INSTALLATION BUILD OUT INSTALLATION BUILD OUT INSTALLATION

SECTION 2
A

A—
| t
é/al; X di/é " WING NUT

@\

7/

|
|
|
|
|
|
|

SCALE @ 3/8" = 1

1" MINIMUM

FINISHED WALL
(w/ sTucco)

-

L SEPARATION 7O «»]
GLASS

- Max. PANEL LENGTH (SEE SCHEDULE)—

d / / / /
I VA
| POURED g
_ CONCRETE W '
PonRe OR CONCRETE
63 o i K% F BLOCK WALL :
Brock WALl REGUIRED
REQUIRED L
3

1.000

SECTION @ STUD

1

|
.
.

SECTION 3

—®

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEETS € & 7 OF 9)

620 x
BOLTS W/ 7/8

/8"

3/32 VglNG‘ NUT- @

SCALE ; 3/8" = 1"

|
It

1

|

Cont.  TAPCONS, ZAMAC NAILIN, RED HEAD—/

DYNABOLT, CF TAP-GRIP, CALK~IN OR l
ELLO MALE/ FEMALE PANELMATE |
ANCHORS

(SEE SCHEDULE FOR SPACING)

" \' Cont.

NOTE FOR COMBINATION OF SECTIONS @

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE |
1 COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

ﬁggiiiﬁﬂggﬁ

SECTION 4

SCALE : 3/8" =

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2011 TLIECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL| Le/Re/ac.
(2.25" DEEF) DRAWN BY:
WALL MOUNTING INSTALLATION WALL MOUNTING INSTALLATION \ 12/06/11
/ TiLleco . \ EASTERN METAL SUPPLY, INC | "2
SECT! ION 1 SCALE : 3/8" = 1" SECTION 2A SCALE : 3/8" = 1" "- c 0 INC WEgagA Lv:/f:s; E,fé’,ﬁ"%"%ay
pohiT TESTING & FNGINLERING COMPANY. PHONE: (561)209-8263, FAX: (561)841~1718 11-222
NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR Phane : (3"5187;3’_%0;;; g G-I RV | DrSGARTon ot | mavde | Beacarion L | DRAWING No
WALL MOUNTING INSTALLATION ~ SECTION 2 (TOP) WALTER A. TILLIT Jr. P.E. ! op oa-ier  (zessl | 2 SHEET 3 OF 9
FLORIDA Lic. # 44167 2 *

‘yi’frraﬁ ?§§£;g




TAPCONS, ZAMAC NALIN,
CF TAP-GRIP, CALK~IN - (9 cont
OR ELCO MALE/ FEMALE 1/4" ¢-20 S. S. MACHINE
PANELMATE ANCHORS -
(SEE SCHEDULE FOR NI BoLT Y/ NUT & WASHER
SPACING) 8
PN ~
ST %
POURED e
CONCRETE N
RE'GUIRED—-\ 3 !
u N |
N |
LAY : o
=
| g
1" MINIMLA: | z
SEPARATION 7O | A
GLASS [
|
9
| &
/ i &
N | >
1/4" 8~20 X 3/4" &
EOLTS W/ 7, i X
3432 WinG Nur'e i g
ALTERNATE o c
LEG LOCATION T
Pau@.so,_l d Y

-CONGRETE u
OR -CONCRETE
BLOCK WALL

~REQUIRED

I
| Pp——ay ¢

TAPCONS, ZAMAC WAILIN, RED HEAD |/
DYNABOLTS (BLOCK ONLY), OF TAP—GRIR,/ |
CALK~IN OR ELCO-MALE) FEMALE
PANELMATE ANCHORS

(SEE SCHEDULE FOR SPACING)

1/4" B~20 §. 5. -MACHINE
go:.; w/ NUT &~ WASHER
’ »

Cont.

BUILD OUT INSTALLATION

~ SECTION 5

SCALE : 3/8" = 1"

FEMALE PANELMATE ANCHORS
(SEE SCHEDULE FOR SPACING)

b
[
[NE)
TAPCONS, CALK~IN OR ELCO MALE/ £ D

-0

. 1/4" 9-20 x 3/4"
EOLE W/ 778" x
| .;/32 VgNE “NUT @

POURED CONCRETE —~/

REQUIRED

FLOOR MOUNTING INSTALLATION

— SECTION 5A

SCALE : 3/8" = 1"

TAPCONS, CALK=—IN OR ELCO MALE/
FEMALE PANELMATE ANCHORS
(SEE SCHEDULE FOR SPACING)

POURED CONCRETE 31
|

REQUIRED
N N
‘\\ SO

(SEE SCHEDULE FOR SPACING)___

POURED CONCRETE
REQUIRED

1" MINIMUM
— SEPARATION TO —
GLASS

2

—®

7/8" x 3/32 WG

Mox. PANEL LENGTH (SEE SCHEDILE)

‘ /:—‘J NuT @ 12°
Cont ) |
;f——;l ' -
_ - ¥ T |
i —
g 4
e v A
pourep concrere_| - 1998 //
REQUIRED i 1
TAPCONS, CALK-IN OR £1G0 ey T 1
FEMALE PANELMATE ANCHORS. E D.

(SEE SCHEDULE FOR-. SPACJNG)

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEET 6 & 7 OF 9}

NOTE FOR COMBINATION OF SECTIONS :

| WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

TAPCONS, CALK—=IN QR ELCO MALE/
FEMALE PANELMATE ANCHORS F

TAPCONS, CALK-IN OR ELCO MALE/
FEMALE PANELMATE ANCHORS

NN

CALK—IN, ALL POINTS SOLID-SET OR

ELCO MALE/FEMALE PANELMATE ANCHORS

(SEE SCHEDULE FOR SPACING) *

ALTERNATE —
LEG LOCATION

1/4" @20 X 3/4" ]
BOLTS W/ 7, “/
3/32" WING NUT "o
72° 0. ¢C.

1" MINIMUM
= SEPARATION TO —+

7/8"a WING NUT ONLY
APPLICABLE AT
MALE PANELMATE(TYP.)

GLASS
A

Ay

4" 920 x 3/4"—]
BéLTS W/ 7/5/ [

3/32" WiNG NUT @
12* 0. ¢ @%
. Cont,

Max. PANEL LENGTH (SEE SCHEDULE}—

REQUIRED

POURED .
CONCRETE Q N
OR CONCRETE
A
_\\
7" MINIMUM

~— SEFARATION 70 —1
GLASS

=

]
{
I
|
!
I
|
| l
|
I
l
I
I
|
l
|
|
|

<=

POURE‘D/ / /cl‘/

CONCRETE

OR CONCReTE 4
BLOCK WALL \

REQUIRED

7=
CALK~IN, ALL POINTS SOLID-SET OR—/ 7

i

ll..}.q ‘

Max. PANEL LENGTH (SEE SCHEDULE)

[
[
!
|
|
|
!
!
|
l
|
!
J

ELCO MALE/FEMALE PANELMATE ANCHORS

(SEE SOHEDULE FOR SPACING)

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 7

(SEE SCHEDULE FOR SPACING) *

SCALE : 3/8" = 1"

gfijiﬂiﬁjﬁ‘a

g

WALL MOUNTING INSTALLATION (D. M.)

— SECTION 8

SCALE : 3/8" = 1"

w@e .

& B.2 (SHEET 1).

B.2 (SHEET 1)

* SCREWS USED AT ANCHORS MAY BE 1/4'8-20 SIDE
WALK BOLT W/ (2 OR 1/46-20 TRUSS HEAD BOLT

* SIDE WALK BOLTS ARE 3/4"8x3/32'THICK
HEAD MACHINE SCREW W/ LENGTH AS FER NOTES A2

* TRUSS HEAD BOLTS ARE 1/2"0x1/8" THICK HEAD
MACHINE SCREW W/ LENGTH AS PER NOTES A2 &

FLORIDA BUILDING CODE (Non High Velocity Hurricone Zeone)

©2011 TILTECO, INC.

/TiJEco me \

W7 PPPIITI L

TILLIT TESTING & ENGINEERING COMFANY
6355 '/ghw 36th, Sb, Ste. JO5, VIRGINIA GARDENS, Fl. 33186

B (305)!71 ~1530 . Fox :
EB-0006719
WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. £ 44167

0.050" BERTHA ALUMINUM STORM PANELY  L6./RE/408.

(2.25" DEEP) DRAWN BY:

12/06/11

EASTERN METAL SUPPLY, INC oarE:
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407 11-222
PHONE: (561)209-8263, FAX: (561)841-1716

(305)871-1531 — provrs PR DESCAPTION TATE DRAWING No

7 oLp 08-141 12/08/11] 3 SHEET 4 OF 9
2 4




POURED CONCRETE I
oR

gounsn CONCRETE
CONCRETE BLOCK WALL VARIES 37|

CONCRETE BLOCK WALL

REQUIRED N Max. REQUIRED
POURED CONCRETE _
\ Ao 2" x 3" x 093" 3105 H-14 OR
, POURED CONCRETE BLOCK 6063-T8 ALLOY Cont. Alum. ANGLE .
CONCRETE OR WALL REQUIRED WITH ANCHORS © 12" 0. C.

CONCRETE BLOCK — 2.500" Min <
CONCRETE . . Q
WALL REQUIRED ANCHORS T 2,500 8
@ 12" 0. ¢ —— Min, =
CONCRETE ~ ~F Q\ \ﬂi N §
ANCHORS e y o

@ 12" 0 C VARIES 3"

£ ) : ¢
; /TN L, ] or @m"’*@ 2 x 27 x as5r ) ATERMATE LEG LocATION
§ — 4 1.2 Mox. AN 10 2" x 5" x .055"

@ g ./ _ '

2" x 4" x 125"
3105-H14 OR B083-T8 ALLOY
Cont. Alum. ANGLE

i N OR@ Cont. Alum. ANGLE OR
L LA o

R 080" 3105~H154
SHEET METAL Alurn.

1/4" @ BOLT 4" % 4" x 072" ‘ BENT PLATE
@® 24" 0. C. 3105-414 OR B083-TE ALLOY
WAJACKNUT Cont. Alum, ANGLE
CASE_A (Plan)
SCALE: 1/4" = 1" C. SE 4 2 i CASE D (P/Oﬂ)
SCALE: 1/4" = 1" SCALE 1/4 = A

ND CLOSURES DETAILS SCALE: 1/4" = 1"
MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.)

AND CORRESPO‘ND/NG MAX/MUM PANEL LENGTH "L" OR CONCRETE Doty posion TN
S AN BLOCK WALL T " POURED “CONCRETE —— | rern \
CHE DULE FOR A GIVEN FPANEL SYSTEM REGURED . . . . OR CONCRETE BLOCK (REQ'D)
_ . TARCON ANCHORS OF e WALL REQUIRED .
ALL POINT SOLID-SET Ly
MAXIMEM Mox. PANEL LENGTH (SEE SCHEDULE FOR SPACING) | P SO
3D, DESIGN L) ' ' I | REMAN-cLOSED AF NN ¢
PRESSURE RATING v d
Toa ) a | 1 HURRICANE- CONDITIONS., g
MOUNTING W/t MOUNTING W,/ WALL MOUNTING W, . /8 @ 2
n" HEADER "n” HEADER (3) |cOMPONENT &/@ conr. : 3 N
5] _ P
+30.0, ~30.0 12'-11" 12'-11" 12'-11 | §, /® x
Ly f T\
.0, —35. o g . | oy SEPARATION /
+30 35.0 1211 1211 12'-11 1 MINIMUM a 70 GLASS CONT.
seramamon - 1L L = |
+35.0, —40.0 12'-0" 12'-0" 12-0" O 6LSS T T 2 ‘ 7/8" x 3/32" | WS
— : | 3 | WING NUT @
+40.0, ~450  17'-2" 11'-2" 17'-2" : g 1 mesmwe |
” £ POURED : ' ( ) 499080000,
+45.0, —50.0 10°=7" 10'—g" 10" 7" CONT. | N CONCRETE OF CASE E Plan Ty gER fQ
| §  cowcrere '3 @fﬁ\”" W=
‘ SLOCK WAL SCALE: 1/4" = 1" "
- | +50.0, ~55.0 100" g9'—a” 10'-0" l REQUIRED CONT.
- POURED CONCRETE = i SECTION @ STUD (OPEN- POSITION )
o o o an . OR CONCRETE BLOCK: >LL P O
+585.0, ~60.0 9'-7 8'-6 8-7 WALL REQUIRED —\7% | '

TYP. TOP/BOTTOM

+60.0, —65.0 g'-2" 79" - L TAPCON ANCHORS OR
8

ALL POINT SOLID-SET

(SEE SCHEDULE FOR SPACING)

e B WALL MOUNTING INSTALLATION
b W - - SECTION 9

+65.0, -70.0 8'-9”" 72" §'—9”

FLORIDA BU/LDING CODE (Non High Ve:’oc?f%f

©2011 TILTECO, INC. 0.050" BERTHA ALUM/NUM STORM PARE} - 466 R E /0.6,

+75.0, ~80.0 §'-2" 6'-3" §'-2" SCALE : 3/8" = 1" I (2.25" DEEP) DRAWN 87:

12/06/11

NOTE: MINIMUM PANEL LENGTH IS 3'~0" / iLIEco EASTERN METAL SUPPLY, INC DATE:
Ine. ST
M A .
55'5‘5;"@ TG & R oM PHONE: (561)209~8263, FAX: (561)841~1716 11-222
Prene : (305)”5,3?_5;20;;;9 (s05)871-1831 REV, Mo DESCRIPTION DArE | Rev. wo DESCRIFTION DATE DRAWING No
. . P.E. OLD 08~-141 1206711 3

wﬁ@f N B/055 - - SHEET 5 OF 9




CHEDULE sl
PR 4 ONEH Ao OO RER (NCHOR SPACING MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR
HOWEV%!;_S%AXIMUM PANEL LENGTH FOR A OIVEN E. D. = EDGE DISTANCE
D0 LSO, L0AD MUST BE VERFIED 4S PER SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *
MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2% w MAXIMUM ANCHORS SPACING FOR £. D. = 3 1/2"
ag’sgz's?s} e —— /: APPLICABLE T0 | MAXLM MaX MM > CFORE D / APPLICABLE TO | mimm
TAPCONS CALK=~IN SOUD-SET PANELMATES CF TAP-gRIP | SECTIONS # & | PANEL DESIGN TAPCONS ZAMAC NAILIN CALK~IN SOLID-SET PANELMATES oF TAP—CRIP | SECTIONS # & } PANEL
o v RED 1, DINABOLT ANy COMBINATIOLENGTH | | PRESSURE RED HD. DYNABOLT ANY COMBINATIOMLENGTH
(paf) | ™ 0 0 7o 70 70 0 70 0 70 70 0 OF THEM " (f) ’?A s”\; ) 0 0 70 12} o - 0 70 70 0 0 70 0 OF THEM PRy
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY P81 J CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
) s - B " .
12" ~ 12" - 12 - - - 12 - 12 - 1 (TOP) 12" - 72'*++ - 12" - - - 12" - 10 - 1 (TOP)
a n wtt " . " » » gt " »
12* | 10 12 120 | 12 8" 12 120 | 12 12 | 12m o120, o sorrom) 12° 6" 12277 g0 | 127 5" 122 | 1zm | og2m | a2v oyt oas27| 6 1720, ot (BoTTOM)
» Wt ” " i ” » I’ " i " " z
12 - 12 - 12 12+ 12 12° | 12 - 12 - 1 2 a*rop) 12" P TRl B 12 120 | 12 12" | 12 ~ e - 2, §%(T0P)
" " I!++ I " ” ” »n h
12 10 12 18" 12 8" - - 12 12* 12 to 1/2"§ 2 (sorToM) 12" &" 12277 12" 12" 5" - - 12" 12 |11 /2" 6 1427 | 2 (BOTTOM)
" " wtt “ » , W P
12 10 12 12" 12 8" - - 12 12" 12" |10 172"} z2a (soTTOM) 12" &" 127t gov 12" 5" - - 12” 12® Q11 172"\ 6 172" | 2A (BOTTOM)
" »++ ” ” ” " » ” n
+35.0, -400] 12 - 12 - 12 - - - 12 - 12 - V344 0m|e-o 4350, ~40.0] 12* - 127 12 - - - 12 ~ prae - 3a 4 (oR
" n ” ++ ar " i n
oR 12 10 12" 12" 12 8" - - 12 12" 12* |10 1/2") 3 (BOTTOM) or oR 12" 8" 1277 g 12" 5" - - 12" 12" 11 127\ g 1727 ) 3 (BOTTOM) Rs10'-0"
" s i‘++ ” ” ] LESS n
LESS 12 10 12" 12" 12 8" - - 12 12" 12" |10 1/% 4 (ROTTOM) LESS 12" 8" 127 * 12% 4 127 5" - - 12" 12" {11 172"\ 6 180 | 4 (BOTTOM) 0
M SFE ] - - - 12-11"
12 ~ |2 L | - - - | - | 2 - 5 (10R) 7L R 7 S04 BT 7 LR - -~ | o= e - 5 (T0F)
" " wtF " " N " u
12 10 12" 12 12 8" - - 12" 12* 12 0 12 5 (BOTTOM) 12" 5" 72"” 12" 12" 5" - - 12" 12" Y11 1/2% 18 1/2" ] 5 (BOTTOM)
12" - - - 12" - - - 12" - - - & (TOP) 10" - - - 10" - - - 12" ~ - - & (TOP)
12" - - - 17" - ~ - 12" - - - 6 (BOTTOM) 8" - - - 8" - - - 1n” -~ 4 - - & (BOTTOM) &~
_ ~ N " j . BA (BOTIOM) . . o I - 5A (BOTIOM)
1 1 N S - 12 - - = 1 7 (0P} 7 - - - 7 - - - g - - - 7 (10P) - -
1 - - - 12" - - - 12" - - - [ 7 (BotTOM) | 7" - - - 7 - - - 10" - - - 7 (BOTTOM)
- - - - Lo & 12* 12 12" 12% - - |8 (ror/B0TTOM) - - - S - 12" 12" 1 2 12* - - 15 (ror/s0TTOM) 7
" ”++ a " ”
12 - 12 - 12 - - - 12 - 12 - 1 (TOR)
- 77 : — +  ONLY TAPCON ANCHORS-OR ALL POINT SOLID-SET ALLOWED FOR MOUNTING- SECTION 8.
12 8" 12 12" 12° 5" 12" 12 12" 12" 12" 18 172" | 1, 97 (BOTIOM)
- 5T : ++ ANCHORS SPACING ONLY VALID FOR ZAMAC NAILIN,
12 - 12 72" 12 12" 12" 13° 12" - 12" - 2, gt (rop) '
- : —F - ; % SEE SHEET 8 & 9 OF 9 FOR ANCHORS TYPE & SPACING
12 8 12 12" 12 5" - - 12" 12" 12" |8 172"} 2 (soTTOM) FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.
12" 8 12 12" 12 5" - - 12 12" 12" |8 172" | za (BOTTOM) * MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE,
- 7 - FOR E. D. LESS THAN 3 1/2" REDUCE ANCHOR SPACING BY (5§399958 05,
+35.0, ~40.0| 12 - 12 - 12 - - - 127 - 12" - 3 & 4 (T0P) MULTIPLYING SPACINGS SHOWN ON SCHEDULE BY THE FOLLOWING g8 RA. Ty
- - = — - - - FACTORS. (Min. E. D. FOR CALK~IN ANCHORS & FLCO o % i 3=
o8 2 8 12 12 12 5" - - 12 12" 12" |8 172"} 3 (BOTTOM) | >8'-0" PANELMATE IS 2 172", AND 3 1/2" FOR SOLID-SET ANCHORS). § A@?‘» e NS,
a " » ++ " » ” " i
LESS 12 12 12" 12 5" - - 12 12" 12 8 172" 4 (BOTTOM) o S
. T p . . 100" FACTOR § -
12 - 12 - 12 - - - 12 - 12 - 5 (ToP) : 0, N
1 S - p " " - T ~ ACTUAL £ D, T ZAMAC NALIN A 3 ¥
8 12 12 12 8 - - 12 12 12" 18 172"} 5 (BOTTOM) mpcon | /ool | cak-wv | soup-ser | oF mp-crie s g
* " " SPANELMATES = ‘fﬁ
12 - - - 12 - - - 12 - - - 6 (ror) A — ek
- - 3" - 86 .75 .78 1.00 =Y
0 ~ _ ~ 10 _ ~ - 127 - - - 6 (BOTTOM) " =
o : p 54 (BOTTOM) 2172 - 77 50 - 80 =
- - 5 - - - 12 - - - 7 (1oP) 2" 50 eI
L " ” - . - - - 7.
g - - - 9 - - - 12 - - - 1 7 (Borrom s
. . 1 1/2" 35 - - - -
~ - - - 12 8" 12 12" 12* 12" - - 88 (TOR/BOTTOM) : ’ :
/ . FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
©2011 TLTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL| LG./RE/AG.
(2.25" DEEP) DRAWN BY:
12/06/11
l ' INC. Egsg WEST ROADIS._ DRJ:}/EW
Wi ALM BEACH, FL. 4,
TILLIT T ENGINEE, NY ! —_
8355 NTHA iﬂ?’ﬁ?sﬁ 305, V/RGINIf gg;zfs.o%??sma PHONE: (561)209-8263, FAX: (561)841~1718 11-222
Phane : (305)8 ?éé’_szaoo;;’;g (302)871-1831 REV, No DESCRIFTION DATE | REV. No ‘DESCRIFTION PATE ORAWING No
WALTER A. TILLIT Jr. P.E. 1 LD 08-14t 12/08/11 3
FLORIDA Lic, f 44167 P : SHEET 6 OF 9




IN M
T ot T
. . I 1/4" LAC SCREWS ®© 6"
1/4" LAG SCREWS @ 6 . S
{C' W/ 1 172" Min, ‘ %—/%EAMIS/ED, Pi":(ﬁ'm%b/v 0
4 . '[Z%Egﬁgﬁwggff%‘% 0 L '[ EXISTING WOOD HEADER.
i Y
500" {0.250" 1 S00" 0.250"
N T - ‘HT Mox, : Mox,
/| ] 2 ;‘; I
" || ~——-@ Cont. Min\ L l Cont.
A N - ", ' '.‘“A'l“
L]FI-TLI__ l Frll 35 Wy
| —O T —
1 - WOOD HEADER 8. “WOOD HEADER ’
REQUIRED | ‘ g REQUIRED l
n
A 1 %
Wy e —-—-J\<——l——
ALTERNATIVE 1 - o
he | C)
A | L‘% |
1" MINIMUM .__<> - 1/4" 820 x
SEPARATION 70 | ] - SEIPAg%gme » ‘ BOLT W/ .
6LASS 2 aass 1 | | 78" 0 x 3032
| & || B 5 o
7/8" o 3 12"
; 3532" VS TEec
NUT ® EVERY - |
£ S STp e 12° 0. A e
- H!- : |t L E];"".-‘, |
| EQ 2 [
! | -
P Sy
A ; T @ Cont.

s
.
a

.
2

e

e 144

1.000" 10) Cont.
1/4'6°LAG SCREWS @ 6°
0L, W/ 1 172" Min.
THREADED PENETRATION @
MIDWIDTH OF PEATE.

7" x 2" x (125" (Min.)

| 1/4"0 LAG SCREWS @ 6"
e w1 12" Min,

THREADED PENETRATION @
MIDWIDTH OF PLATE. '

ALTERNATIVE 2

L

1" MINIMUM
— SEPARATION TO -~
GLASS

Ml

2" ke 4" PL

b

T

e
|
|
|

1/4" 9-20 x 3/4"
B'é). W, 78’/

J ' 5 W/ 7/
l 3/32" WING'NUT @
1270, G

|

(7 ) Cont,
0.500"

\1/4";» LAG SCREWS @ 6"

0.C W/ 1 1/2" Min.

THREADED PENETRATION @

EQUIREY e ¥4
’?L\”v\ WDWDTH OF PLATE. NOTE. FOR COMBINATION. OF SECTIONS: o711 TLTECD, Mo 0050 BERTHA_ALUMINGM STORM PANEL| e/ne e
R AWN BY:
* : WALL MOUNTING SECTIONS CAN BE COMBINED
AL rERNA TIVE 3 IN ANY WAY TO SUIT ANY INSTALLATION. ﬁ EASTERN METAL SUPPLY INC 12/06/11
N DATE:
ILTEC O e, e,
T RN oM e PHONE: (561)209-8263, FAX: (561)841~1716 11-222
Prens s sokias e 189 o (ORI 131 o vt e —— — — DRAWING No
WALTER 4 LT . PE 7 ap 0a-rar_ Trajos/i} 3 SHEET 8 OF 9
FLORIDA Lic. # #4167 ; "

ALTERNATIVE 4

W/ 2" Min. THREADED PENETRATION
INTO EXISTING STUD,

ALTERNATIVE 5

WALL MOUNTING INSTALLATIONS
SECTIONS A

SCALE : 1/4" = 1"

W/ 2" Min. THREADED

INTO EXISTING STUD.

ALTERNATIVE 6

PENETRATION

x AL g e RN
N W/ 1 1/2" Min. THREADED ~ ‘| 1/4" o LAC SCREWS @ 1 1747 8 LAC SCREWS @
: PENETRATION TO EXISTING : 6" 0.C. W/ 1 1/2" Min. ) 8" 0.0 W/ 1 1/2" Min.
K WOOD HEADER. THREADED  PENETRATION TO .| _THREADED PENETRATION TO
- EXISTING WOOD HEADER. W} [EXISTING WOOD HEADER.
™ e
f | Min. 0.250" 0.250"
: 51;0 a 0.250" Max, Mox.
. | v 5 A _i
1 Mi N
A Tl : T N
4 Min # | | 27\ [k | | t |
. ‘ . () Min. ¢ i Min.
l T I.,} s 3 | § cont b l‘ 4}..“‘_.‘“ } ‘ N Cont % s ‘f.‘\n-“ ¢ d [
2 [!:ﬂ | Er;l—_'l_ﬂ - | ' g E—]]_ S WOOD HEADER |
S WOOD HEADER l bl :) g WOOD HEADER : o REQUIRED |
g REQUIRED g REQUIRED | 4 I —()
0 7% MINIMUM | | t ) | O = - 1 NI |
i SEPARATION 10—} W 17 MINIMUM | o SEFARATION TO (
S | SEPARATION TO | a
S BLASS g 6LASS | GLASS I
P - S
. I n v T N o -1 I~
P e N AL ! & /4" 8 x 3/4" I BULDEX | 0 o
% joe” oc. | g TEK SCREWS @ 6" O.C. | l g
- i i o q.
o | g g T = .
g g G | | §
Y | gV §
& Vi 1/4" 0-20 x - + I[; | | |
N BoLT w/ é i LS
g 778" 4 x 3/32 : !
» WING NUT @ . [
EVERY STUD @ ;
e v ik b 7,
| [ 1 “ . AN 3,/32" 2" WinG N )
) / s Zw"m—zass '
Cort WO oE W le il 8 =3 i o e 5
% ;eg [RE ) S pont. W/ NUT & WASHER 1/4 "¢ LAG SCREWS @
fIF 1" x 4" x 125" (Min) ) " 3 §" 0.0 W/ 1 1/2" Min,
806.3~T5 Alum. TUBE (Cont) N Lx 4" x 125" (Win.) # THREADED PENETRATION
1 a0 % Q18 806315 Alum. TURE. (Cont.) @ -MIDMIDTH -DF PLATE,
o gpemmne [\ 1%\ s osmee
EACH"STUD (MIDWIDTH OF
STUD, "2° Min. NOMINAL) AND STYD, 2" Mug NOMINAL) AND

ALTERNATIVE 7

INSTALLATION DETAILS ON

EXISTING WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.8.D, DESIGN FPRESSURE
RATING UP TO +85.0, ~72.0 psf AND PANEL'S LENGTHS UP TO 9'-0"

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE

_SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

jﬁﬁ?iﬁiﬁﬂﬂgy

o
aaaaa

00080887

6

Max. PANEL LENGTH (SEE NOTES BELOW}

L

3/4"
L

i

T, Sosgppest B8 f

\‘fs’sf’ 5
¢




s LAC S "4 LAG SCREWS ©
1/4" 6 LAG SCREWS © 6 0. /4" 8 LAG SCREWS © A

.o 4" 0. C. W/ 1 1/2" Min 4" 0. C. W/ 1 1/2" Min. .
C. W/ 1 1/2" Min. THREADED 1/4" 6-20 ELCO THREADED :{ENETP,;TJONM /J‘L THREADED PENETR?TION A 7
~ T TERETRATION O EXISTING WOOD L male /female T0 EXISTING WOOD BEAM.__] 70 EXISTING WOOD BEAM—]
- ! 7T | PANELMATE @ 12"
) N Cont. H s g’ gx g ,@ @& %) 1 A ONT. POSITION 4" x 8" (Min.) EXISTING 4" x 8" (Min.) EXISTING
’ : W/ 1 7/8" Min OFEN POSITION %) £h—4| WD BEM REQUIRED, £ L WOO0D BEAM REQUIRED.
1/4" 220 5. 5. BOLTS @ . ‘ . STRUCTURAL ADEQUA STRUCTURAL ADEQUALY
., ,g,. O COW) NUT & WASHER . PENETRATION 75{40 ﬂc évf;ﬁ fcffg,s ﬁn OF gxzsn/vo v;po% BEAM OF EXISTING WOOD BEAM
, o . . C : — 70 BE CERTIFIED BY TO BE CERTIFIED BY
1~ Min. ” T THREADED PENETRATION REGISTERED ENGINEER OR REGISTERED ENGINEER OR!
0.250 : A/ 7O EXISTING WoOoD ARCHITECT PRIOR TO ARCHITECT PRIOR TO
] | Max ! | HEADER. SHUTTER INSTALLATION. SHUTTER INSTALLATION.
\ T ! CONT. | ~| o —| &8 1
< 2 i | | ' P
Min. ™ !
a1 ! 1-—(: ) Cont. I X |
D__—L]‘..- e e : Y ont : ‘ 4 [ II : [ { j\ I 'at”‘
K oaray wr - Luf i i o ¢ N > |
TR | R R B Tl S =
EQUIN (- : X o
| g et | B [%D ; | . 3 e o 332 WNE N7 & | 0
» S by - . 12°0. ¢ ® —4— .
1" MINIMUM ! o l = WOOD HEADER | [ e ! 'l 2660 c @@@‘Q 1" MINIMUM ~ | 3
SEPARATION TO—] | a ' W REQUIRED [ 17 MINIMUM | ' S Tlseeapanon 1O | 2
. 0L 258 | " 1 4 = Lol ~{separarion Toj- 1 L (7) 2 1 ASS L
! tu 3" MINIMUM l R —\— —— - oLass | { " [ Iy
L, AL S SEPAC{;?A?;%N 70 } = . § , i & L_ ; a
LA ! [ ” p 1 N
T W g B A7 N T T 1 | i N A4 i x
ALTERNATIVE & ! —— — g sePaRATION Fol~ 1 | S \— E T R &
Mo ““[\"“"‘ T OLASS | | d e Q i E
- —_— A . | o P g I § . 4
| 8 1O 3 - @ O .
1/4" 8 ITW BUILDEX i g : = ' % | |7/8" x 352 g | 3
TEK SCREWS @ 6” 0.C. t = i % I 8 I Vme-wur @ g i
147 =20 : g | s { = L lizro e & P s o
a-20 x 3 i P . —A— 3
» : | 2"2 6 % I | woop pECK
Yo BN : & } 0 r Wwoop pECK = or (9) | | reguRED S
/8" x 3/32 L+ —REQUIRED !
; WiNG NUT ® : Y | /[ i :
/[—L_J_’LJ e L 12" 0.c. | = : EQ " 7
ST NG ~ \
A , j
. \500.. N Z1/4" 8 LAG SCREWS @ N >
- ol = I } e y 6" 0.°C. WA 1 1/2" Min, T
: -\ Min. Cont, ! 7 5 LW" #-20 ELC %Lf% e THREADE, ;’DIENETR,;‘:'T/DN
\ ‘ | ' rnale/! f*”;g’& REQUIRED ® MIDWIDTH OF PLATE.
LA ; = PANELMATE @ 12" / 0 | EO
PR ALTERNATE ) 0. ¢ W/ 1 7/8" G ) N / 74" 6-20 x /4"
i \ o W “ \Y === li=n |FC LOCATION Al e PENETRATION © - : . T Nyt 6 LAG SCREWS © 1/4" @ LAG SCREWS-@ 14 W/ 7/3"-4
J |t 17 l—i— AWl mowors oF pLATE v (OPEN POSITION %) 200 W/ 1 1/2" Min. 4”0, C W/ 1/2" Min. /32" WING NUT
wooD' STUD H ’ f L}__ 7..% ] Min. \ . \ THREADED PENETRATION. THREADED PENETRATION, ® 12"0. ¢
@ 24" 0 o |\ |l i ’ T = l/@
e 1/4" 8-20 S, S. BOLTS @ " 'z ‘ 1y pp
REQURED Ll % 12" 0. €. W/ NUT & WASHER, z Vo vimom | ! ALTERNATIVE 1 ALTERNATIVE 2
Cont. SEPARATION ~} .
Ll 1" % 4" x 125" (Min) | ToouASS | L . . o
d I e o s’ a - g CEILING & FLOOR MOUNTING INSTALLATIONS
A (2) 1/4" @ LAG SCREWS @ ALTERNATIVE 10 | T e sy
EACH' STUD (MIDWIDTH OF . | —— NG NUT © SECTIONS B SCALE : 1/4" = 1"
STUD, 2" Min. THREADED £0 EA. STUD
‘5 24 NOMINAL) AND W/ 2" MIN. ! ,L
ALTERNATIVE 9 PENETRATION INTO EXISTING ) g 1 N
STUD. e 2 » NOTE: SnAP cAP (D) 10
N S/ REMAIN CLOSED AT NON
, I B HURRICANE CONDITIONS.
WALL MOUNTING INSTALLATIONS woop | i
REQURED . o
i
SECTIONS A scue: 14 = 1 (OPEN POSITION *)
: ) BN
SECTION @ STUD TYP. TOP/BOTTOM
NOTE_FOR COMBINATION OF SECTIONS: ALTERNATIVE 11

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SWIT ANY INSTALLATION.

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

Iﬁ&yyf . {‘,55;‘.‘
FLORIDA BUILDING CODE (Non High Veioclty Hurricane Zone)

©2011 TLTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL| L6&./RE/AG
NOTES: ' (2.25" DEEP) DRAWN BY:
+ 12/06/11
1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE | ~
RATING UP TO +65.0, —72.0 psf AND PANEL'S LENGTHS UP T0 §'-0" / I".. I ECO . \ EASTERN 4224851;é|;OA£2,§/ELY' INC DATE
2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 11-222
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. o o NG ol YA CaRpE B 37108 PHONE: (561)200-8263, FAX: (561)847-1716 2
Phone : (JDB)&?EI_BPSZ% (-)6,:;; g (305)871-1531 T r TR T T DRAWING No
WALTER A_ TLLr Jn P.E. 1 0L 08-141 12/08/1 3
FLORDA Lie, £ 14167 R 7 SHEET 4 oOF 9




